FIRST TERMINAL EXAMINATION:2022
CLASS.10: PHYSICS

Maximum mark:40 Time: 90 minutes
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4. 500 W
5. Circuit.(a) [ Volt meter is to be connected in parallel]
6. When current in the circuit exceeds the limiting value, fuse gets heated vigorously and hence the
fuse melts and break the circuit.
7. 1/R =1/R1 + 1/R2+ 1/R3 = 1/2+1/12+1/4 = 10/12
Or R=12/10=1.2Q
8. a. Into the magnet.
b. Direction of current and direction of magnetic field.
9. 2 resistors.
Explanation: Required current,I = 4A,
Voltage V=220V
Then R =220/4 = 55Q
When two 110 Q resistors are connected in parallel, effective resistance will be 55 Q
10. Series Parallel
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12. a.I1=P/V=115/230=0.5A
b. Q =1t=0.5x10x60 = 300 C
13. a. Clock wise.
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b. P =800x1/4 =200 W
[ aNwod1semo: P = VR @o@@Imoad anwism ald:@l@odsecmidwd alaid maeNaenanio] ¢:0wo.]
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16. a.cuyeml.

b. R=R1+R2=4+2=6Q
c. 4V [Explanation: [=V/R=6/6=1A, 4Q somlayolee: caoudgm =IR; = 1x4 =4 V]

17. a. /R = 1/4 +1/8 + 1/12 = (6+3+2)/24 = 11/24
R=24/11=2.18Q
b.

12 ohm
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Effective resistance, R = 12x12/(12+12)= 6 ohm

18. a. Moving coil loudspeaker.
b. emoeg08®m® 0.
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b. @umlono.
c. H=V*/R = 230’x3x60x60/1000 = 571320 J
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b. State Right Hand Thumb Rule.
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